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FOURTH SEMESTER DIPLOMA EXAMINATION IN
ARCHITECTURE: APRIL., 2017
QUANTITY SURVEY -1
[7ime = 3 hours
(Maximum marks : 100)
[Note = -1, Missing data may be suitably assumed
2. Quantities should be worked out in standard form.

3. Sketch on 4™ page.]

PART — A
(Maximum marks : 10)

Marks
Answer the following questions in one or 1wo sentences. Each question carries

2 marks.

1. Define :

(i) Work charged establishment (i) Contingenciecs

2. Give the unit of measurement for :
(i) wood work for door and window frames
(i) ridges, hips and valleys
3. Write different methods of taking out measurement for detailed estimate.
4. State the coefficients of painting of fully panelled window and fully glazed

window.
5. What is standard data book ? (5x2=10)
- PART—B

- (Maximum marks : 30)
Answer any five of the following questions. Each question carries 6 marks.
A person is to construct a building of plinth area equal to 120sq.m. on a plot
in Bangalore at a cost of ¥ 7,00,000. The height of the building from ground
level to the top of the roof is 3.2m and a parapet wall of height equal to
80cm is constructed on the terrace. Determine the cost of  construction of a
similar type of building of plinth area  150sq.m in the same locality based on
cubic content/volume rate.
Caleulate the quantity of steel in kg @ 0.75% inr the roof slab of the building

1.

shown in fig.(1)
Istimate the quantity of DPC required for the building in fig. (1)
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mdocy and olem thick.

S0 Detenmne the quanany of pasgpet wall of the

@ Schadule of mans

(= Convevany charge

PART—C

LSOUD WOIR T

How e amadyss s done for a particular item of WorK .

Marks

3 ofora well 23moinner

d 3d

”

hailding in iz (D

[T

a9 (3x6=30)

O admum manks : &)

(Answer onx full quostion from each unit Each

Usit—1

w——en sy e R — e
Jﬂf.,:. X U quantity of carthwark for the port

= S prpilic hedh
&0 from the following data, .f..f..:a?:.

full question carmies 13 marks.)

on of a road between  chainages
> measured  with a standand 20m

Chamape S0 31 32 33 034 33 3 537 38 39 60
d.,,.wul A I e R 3 7
e (LS h 11T 1309 131.21130.8 130.7 130.6 1304 129112951129

Level {

The formation kvel at chanr nage 3015 1300m and the mad 15 1n
. . sd

of 1 m 200, The width of formoton is 10m

:1m

embanimen: and 11! in curting. The lateral slope of the ground may be .../nﬁu.rd as

kvel  Draw alwo the longinadinal section and ppical cross sections at cutting and

fuc-athied

0R

{2) Find the spproxamare cox of the bullding shown in f
methad. Assume plinth area rate as T 6300 per sym.

{b) Find e capacity of the resenvoir from the

15
fig. (1) using phinth ar
7

ollowing data using trapezoidal

o
Comowr in metmes 2330 33030 4 9 | 3s
Arex in sqm 1500 2700 3900 | S000. 6400 S100 | 9400

; 8

Uxar—1I

1

(2) Compuze the quantity of brick work and the number of bricks required for

walls for the building in fig. (1)

(b) h.mr:_nn. the quantty of earth filling in plinth for the buildine I fg (1) 6

I T IR I P I T e T Vo Y T I T A e S TS S A A A AR AN A A

AptyTaix

Vi

Vil

VIl

IX

-

Marks

(a} ﬁ/r:zj.l:.n the nant Sn ’ . .
t He quantty of RR Masonry in CM 1:8 for the building in fig. (1) 9

(by Compute the quan . e .
£ ¢ quantity of carthwork excavation for the building shown in fig. (1) 6

Usir— 11

) Det .
x 24:? the quantity of intemal and external plastering on brick masonry for
bullding in fig. (1) 7

(b) Compute the quantity of 20em high sinting for the building shown in fig. (1) 6
Or
(@ Work out the quantity of wood work for shutiers of doors of building in fig(1) 9
(b) Work out the quantity of painting for doors of the building in fig.(1). 6
Unit — IV
Work out the rate per unit of RC.C. 1: 134 - 3 using 20mm broken stone :
Materials
0.009 cubic metre broken sione @ T 900°cubic metre
0.0043 cuble metre sand @ ¥ 2000 cubic metre
43kg cement @ T 8000 Tonne
Labour
0.002 Mason @ ¥ uu..o..wmnrdu.,.
0.01 Man @ T 600 cach/da

0.033 ,5.,, @ T 500 cach'day 13
Work out the rate for standard umit for brick work in CM. 155
Materials
500 bricks @ T 3.300'1000 numbers
43 kg cement @ T 330 hag
.24 cubic metre m.d sand @ T 2500 cubic mewe
Labour
0.7 Brick Mason @ I 730 'each/day
035 Man @ T 600'cach’day
120 Woman @ T 5300 each
Conveyzr n.Wa....u.r. for marerials
Marerials Disiance in km Rare per unit per im
z
Brck 20 20
Sand 27 13
Camxem i3 30
Add 10%: profit for contractor. 3
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